1

%7

.

Match List-1 with List-II:

List-I List-11

a.  Depositing a layer . Melting
of zinc on iron

b. Changing a solid into 11. Evaporation
liquid on heating

¢. Changing a gasinto Ill. Condensation
liquid on cooling

d. Changing a liquid IV. Galvanisation

into gas on heating

EAREGRCIL]

b. T % 9T 319 FI

29 0 del

Choose the most appropriate answer from the

options given below:

f9 fau o fasredi | | @aifas 39gw I M

o (A) a-IV,b-Lc-1,d-II

L

(B) a-ILb-ILc-1V,d-1
(C) a-ILb-ILc-Ld-1V
(D) a-IV,b-1c-II,d-1I

(E)  Question not attempted / 3TTARd g2

ABC-A13] ¢

o(A)

o (D) femder (3 ) @ fuaerEr

fuel we use in the kitchen exists as a liquid,
i § out from the cylinder it becomes

A) then it burns (Change - B).
statements pertain to these

When it comes
a gas (Change -
The following

changes. ' R
Choose the most appropriate answe he

options given below:

None of the processes is a chemical

(A)
change. | |
(B) Process - A (Change-A) 15 4 chemical
change. | |
(C) Process - B (Change-B) 15 a chemical
change. |
(D) Both Processes A and B are chemical
changes

(E)  Question not attempted _ |

r@éﬁuﬁﬂﬁﬁaﬁﬂﬁdjaﬁmﬁnﬁfﬁm%m

ﬁﬁﬁmﬁmmm%ﬁﬁﬁmm%

{W*ﬂ)ﬁmﬁm%mﬁmﬁ)lzﬂ%

R T 37 aREdHT | deafad &l

Frefrfiaa faaedl § @ gaffies I9g™ Il 91:

ST a3 A 3R B § ¥ i ot TaES

qftad= 7€ &l

(B) WOHAT- A (IR - A) T TETfh g
2l

(C) fswar - B (afada - B) T i A
2

(D) A wfFATE A 3R B TETE ThEd 8

(E) 1aia vy

Which of the following is not a chemical change?
Choose the meost appropriate answer from the
options given below:

(A) Ripening of fruits

(B) Fermentation of grapes

(C) Digestion of food

(D) Melting of iceberg

(E)  Question not attempted

Trafafas # & #m-ar tamaf gfeds 728 22

Frefofad famedl & & watfire Iugw 30T
(A) eIl T JehdT -

(B) S =T fopmaa ~

(C) WIS T qT= ~

-(\

| Contd...

(E) oraf@wy
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Which soil f; : . .
e oundin the western part of Rajasthan | 6~ Which of the following statements is correct in
1s less ferti ‘ :
Sitiet the context of the location of Rajasthan on a
Choo
s¢ the mosy nppmpr{m{ answer from the World Map? O
options given below: L) Choose the most appropriate answer from the
(A)  Black Soj] E-:; options given below: r
(B)  Laterite So; 8] (A) The equator passesl'thmugh the northern
il (%) q 4!
(C)  Alluvial Soil ::It PACRERgsUAL: AN
(D)  Desert Soil O (B) Rajasthan is lncu:u_":f in the southern
‘ ' hemisphere. -
(E)  Question not attempted ey
(C) The tropic of cancer passes through the
TSI % GTEEt sy 3 : W0
e 1S aTedt hi-Ht e south part of Rajasthap.
H 3ITATH -
i & Q (D)  The tropic of cancer’ passes through the
Frfeiea fashedt i & warifges sagm s middle of Rajasthan.
(A) WHET (Q\| (E)  Question not attempted
(B) & g Freifefiaa & & Fi-a o Do 6 frg wmfa
(C) wergma w e Faeidadidr
(D) - WO ﬁw%f@ﬁﬁmﬁﬁwﬁmmmaﬁ
" L) (A) W"l‘@ﬂm%aﬁﬂﬂm EEaRIELC
(E) 9 94 ) .
C':T} gl < -
o |
_ o (B) mﬁnqa'&wﬁrh?n@qﬁrem%i ~
S Due to the high utility of(this tree in the Thar o (C) qﬁ}@mﬁ%mmﬁmw
Desert of Rajasthan, if "Ys called as the 2l tY)
b e
‘Kalpvriksha’ of the desert. (D) ek &@t Wﬁ%ﬂﬂimﬁﬁﬁ?{hﬁltﬁl 2l
Identify the tree from given below options. (E) 3raiawy 0
(A) Babool 1N T Which city did M'lh'll“]_r’i Surajmal set up in
. © | Rajasthan? o
{B} Khalr [':] I-______]
(C)  Kheir (V) Choose the most npprup;jl'q-re answer from the
™ options given below: (N
(D)  Thor ) (A) Bharat BY ') Uda
q | . o aratpur ( }{.H} Udaipur
. g t attem )
(E)  Question nota TP P (C) Jodhpur (D) Mewar
TSI & 91 A8 | LO (E) Question not ﬂtlﬂlllp&ﬁ'd
FT01 56 g7 o1 TEEdc ol ‘hedgad” el STl 2l TSI JISTHE 3 TS HiI-HT W6 STt o
ﬁﬂwﬁaﬁ%ﬁﬁa&?aﬁwﬁﬁql ﬁmﬁ{ﬁaﬂﬁaﬁﬁrﬁﬁmﬁmmmaﬁ
(A) e (B) (rfﬂ'{ No(A) REGIQ (31 : 1?.J.‘c:?:ru:!:ﬂ_
N(©C)  awE (D) l{:}ﬁt (C) ST (D). FaTg
q E) a7afa vy .
(E) raia 94 ') W) -
ABC -A13] ¢ 3 [ Contd...
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NU(A)

The Meja Dam has been built on which of the
following rivers in Rajasthan?

Choose the mosr appropriate answer from the
options given below:

(A)  Kothar River

(B)  Luni River

(C)  Mahi River

(D)  Som River

(E)  Question not attempted

TSTRITA 3T 1o 7t 92 e st &= 7 22
ﬁﬁ%ﬁaﬁﬁm‘rﬁﬁmmmaﬁ
FISHT 721

(B) THtEN
(C) HTEr T
(D) EWE
(E) 3aiaud

Curd 1s formed by the microbial action of which
bacterium?

Choose the most appropriate answer from the
options given below:

(A) Mycobacterium sp.

(B) Lactobacillus sp.

(C) Streptococcus sp.

(D)  Salmonella sp.

(E)  Question not attempted

_=# o sframy 1 qersficlt for & arar 29
ﬁﬂ%ﬁaﬁﬁwﬁﬁﬁﬁaﬁﬁmgﬂmmaﬁ:
(A) HIEFEEFIE off :

o (B)  @aerEdicd o,

(C) TIFFE 7
(D) @IcHIACT ¥1.

(E) AIaRaud

ABC-A13] 3

10

11

On which of the following parameters the

crossbreeding programmes  for Variety

improvement in poultry are focused on?

Number and quality of chicks.
Tolerance to high temperature.

[High maintenance requirement.

a.
b.

C.
d. [ncrease in the size of egg laying birds.

Choose the most appropriate answer from i
options given below:

(A) (a), (b) and (d) only (B) (a) and (c) only
(C) (b)and (d) only (D) (a) and (b) only
(E) Question not attempted

Fage T R & 0 TR S0 i

%ﬁﬁmmﬁmw

b.

c.  3=d <@VT hl TFTIFHAT
d. 37T ATt ufEEt % SRR gig) -
ﬁﬁ%@ﬁw&ﬁﬁﬁﬁﬁﬁmﬂﬁmﬂﬁ:
Had (a), (b) 3 (d)

(B) e (a) 3R (c)

(C) &ad (b) 3 (d)

(D) @ad (a) 3R (b)

(E) Tafta v

In Rajasthan Haansli is worn in which part of the
body?
Choose the most appropriate answer from the

options given below:

(A) Hands
(B) Head
(C) Neck
(D) Ear

(E)  Question not attempted

uawwﬁwasaaﬁrmﬁm«:ﬁqﬂwﬁ%ﬂ
Freiffae firaedt 3 & waifr J9g% JCI

N(A)  BIY
(B) f&
(C) T
(D) =™
(E) Sigaf@ a4

[ Contd...
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12 Wl?ﬂ presented the first scientific classification of
Rajasthan painting?
Ch?ﬁsc t?m MOSt appropriate answer from the
options given below:
(A)  Rai Krishna Dag
(B)  Vijay Kumar
(C)  W.H. Brown
(D)  Ananda Kentish Coomaraswamy
(E)  Question not attempted
TSTEA el &1 worg Ssnfie affeor o
FRT S TR o
Fr=fafad faseat & & waffars sgaw sar=i
(A) TEFETE ” )
(B) fasawaw
(C) <=, U, /137

N (D) A= Hew panEEd

(E) Aqai@uy

13 In which city is the Haveli of the Bachhawats
situated?
Choose the most appropriate answer from the
options given below:
(A) Jaipur (B) Bikaner
(C) Chittorgarh (D) Siwana
(E) Question not attempted
T=3T9d i gdell -9 el | g
frafafad faweal 4 9 gaffas Iagw™ I9 T4
(A) TR N\ (B)
(C) fudteme (D) Taam
(E) dita 94

14  The salary of Sidhant decreased by 16% in one

year due to recession and in the next year it
increased by 25%. The net percentage change 1n
the salary of Sidhant is:
(A) 9% Increase (B)
(C) 7% Decrease (D) 7% Increase

(E) Question not attempted

Tal & RO U 99 0 fagid 1 999 16% 92 1
3 3T 99 25% ¢ T fEgid & 99 0 18
yfeera gftad e-

5% Increase

(A) 9%3dfg (B) 5%dfs
(C) 7% FHl (D) 7%dla
(E) SATdia 94

ABC -A13] 3£

16

17

18

~u(C)

If the difference between 71% and 62% of a

number is 81, what is 25% of the number? +
Rt T 3% 71% 3 62% H 3T 81 &1 36 HEAT
T 25% FIT &7
(A) 325 (B) 225
(C) 250 (D) 275
(E)  Question not attempted / 3TTAd 54
When 111 is subtracted from a number, it reduces
to 63% of itself. Then 20% of the number is:
Rt ST H & 111 92 9T 98 T4 T 63% T8 STl
1 39 TE&AT HT 20% =
(A) 42 (B) 126
(L) 355 (D) 60
(E)  Question not attempted / ITANT T
A sum of money amounts to X 8000 after 5 years
and to ¥ 9800 after 8 years at the same rate of
simple interest. The rate of interest per annum 1s-
IS UAUIT  HTURO AT hl G & & 5 J9
T 8000 auT 8 I # T 9800 & FTdT &l ST &l
CHEC R '
(A) 15% (B) 8%
(C) ~ 10% (D) 12%
(E)  Question not attempted / 3T T
Some of the major National parks and sanctuaries
of Rajasthan are-
a. Sitamata Sanctuary
b. Keoladeo National Park
c Ranthambore National Park
d. Dudhwa National Park
Choose the most appropriate answer from the
options given below:
(A) (a), (b) and (d) only
(B) (a), (b) and (c) only
(C) (b),(c)and (d) only
(D) (b)and (c) only
(E)  Question not attempted
TSTEITH o 0 T T I 3R IR 2 -
a.  HIATHTAT 3NEATY
b.  Hacd U JAT
C. TR T I
d.  QUAT U IAA
A fa e faeredt o @ waifaes Iug™ SOt I:
(A) @ad (a), (b) 3T (d)
(B) hdd (a), (b) 3 (¢)

el (b), (¢) N (d)

(D) ¥ (b) 3 (c)
(E) Taita g
[ Contd...
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. i has taken up the «
2 f Jal Shakti has taken up the «,,
21 M"“,St‘rﬁ,?with the theme “Catch the raj;, j:akﬁ
43 “Nilagai™ is a species of- ,‘\t;‘h]l]}’“wlwn if falls”. Which of the fD"DWing
s * S - . :
Choose the most appropriate ansWet from the e ¢ intervention of the campaign? &
\(C) maje (“¢onservation and Rg |
S : Water Iny
options given below: a. , il
£ vy sting
Pl 11511"”'{35‘{;_ = s
(A) Buffalo Renovation of traditional and othe, "
(B) Cow I:l . hﬂdicgftﬁriks ley
Y c Reuse and Recharge of bore-wellg
(C) Deer O d'_ watershed develupment
(D)  Horse . a Intensive afforestation
Ll ! I
(E)  Question not attempted Choose the fllt;f-f.rt appropriate answer frop, te
=T v T options given elow:
o’ - Ay (@), 01, () and ©
Fraferfiae foedt 4@ watfires 393 3 3 B)  (a), (b) and (<) only
- ™y  _— d) Dn]}'
Q) C) (b),(c)and(
R = Dy (b), () and (©) only
‘!{B} g i () (E) Question not attempted
O et 3 STl iR AEE #
© fmH O et 7ifeR AT A 1
O WHE ot o g e 7 R, o 7 I ol gy
| - i 2l
(E) et wa | ﬁmfaﬁaafr&ﬁ;f %ﬁmﬂ 1 T T
; TequT. 31 e
(% a. STt §TE, e :
- + b qrigfieR -~ 3 S frermt / & 7
20  The city in which tﬁe:kite festival is celebrated 1n : | :|'q"!=ﬁ7=l-7{i6f |
i e he day of Makar c. T T I S LTI
Rajasthan, on 14 ;i_{anuary the day © d. mﬁgﬁﬁ—’.]’ﬁq ~
Sankranti, is: L e. EEC qr
Rrwedt o & Taifers I9gw A
Choose the most i:;j;}:;mprfate answer from the ﬂaj:r%ﬁngq e 79 q
ot .
options given below: “(A) (a), (b), (;L (d}: 3 (e)
(A) Jaipur (g (B) aﬂ_cl?*f(a*);;_{b) 311 (c)
(B) Ajmer L] (C) et (H){ (c) 3T (d)
: O (D) % (b), (c), (d) 3T (e)
(C) Udaipur - (E) Faiaysy
(D) Bikaner (V) 22 Defmestaliunfiéilmrmful to us because- 3
. : 4 ;l“ — Choose the most appropriate answer from
(E) Question nt:T:; i empte aplions g BB o
TSEATA H 14 S 9 Hehifd & T dT veicqa (A) Itincreases soil fertility.
g TeT § 9T ST 27 > (B) It increases soil erosion.
‘ o | (C) It decreases soil erosion.
ﬁ? I U S : | (D) It incref.ﬁéls rainfall.
NU(A) SR ) (E)  Question not attempted
3 o A el fau e 8, Hifh-
(B) ST - -ﬁﬁ%ﬁﬁﬁ q1 § | @aitee 397 “im;ﬁ'
(C) FL g (A) & TaT it Semfeh Sl el
() HEE () (B) & T - 3o wrgren 2
'S (C) F-Har ! ST geET 2
- o = )
(E) Srafa 54 (D) Il gafg war 2l
(E)  s7afa uy
ABC-A13] 3¢ 6 [ Cont
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3 Whi " the : | >
2 hich of the following statements are correct | 25  The gland that secretes hormones as well as

regarding the Keoladeo National Park? enzyme in the human body and controls blood
a. Itis located in Pratapgarh city. sugar level is the:
b. Itis the habitat for many birds. Choose the most appropriate answcer from the
Z. Itis famous for conservation of the leopard. ;‘-’Eli“"’;‘giwn o (B) Liver

. Migratory birde comae : . ancreas

Ru;:::} birds come here in spectfic {C; Salivary gland (D) dﬁdrcnﬂl gland
Ch"j’“*"c 1?“—‘ most appropriate answer from the ;%} aﬁ%;g;;%::#%ﬁ g1 U—I1sH bl ot
options given below: T F7dl & :_A,ﬂ-{mzﬁmaam'{aﬂ ffara =t %, de
(A) (a).(b)and (d) only I:-." i
(B)  (a). (b) and (c) ﬁnly frefafaa faeeat @ 9 @aifaes 3ggw 301 ?ﬁ
(€)  (b). (c) and (d) only ~(A) A (@f=zram)
(D) (b) and (d) only (B) Iha (feam)
(E)  Question not attempted (C) AR - :
ST T ST i Rt i & A3 (D) I () S
T TeT 87 (E) ﬂﬁﬁﬁgﬂ |
; 26  Match List-I with List-1I.

a. € YAI9E el § a2l List-I List-11

b. IS Ethh tlﬁfi'qsf ??THTH T B a. The special movement L. Peristalsis
C. %@{M}%W%%ﬂﬂ%ﬁ% of the muscles of
d.

Ter fasm ﬂﬂaﬁ T 3R veft yam & fag oesophagus
Aqael b. The first and the II. Buccal cavity
=+ feu U faedT 0 9 gaifaes 39g 3T 94 smallest part of the

small intestine

¢. The terminal end of [II. Duodenum
the alimentary canal

d. The part of the [V. Rectum

alimentary canal in

(A) I (a), (b) AN (d)

(B) &Ad (a), (b) 3 (c)

(C) =& (b), (c) A (d)
(D) FE (b) I (d)

(E) did 94 which the mouth
| opens
24  The longest part of an alimentary canal in human g=ft-1 % 9T g=-11 =1 faam= Fifsu)
" g 5 G
beings 1s the: Hﬁ-l Flf-ﬁ'-ll
Choose the most appropriate answer from the a. Y A T HiEAET L CRIEE
options given below: 0 ﬁﬁf T .
Ay Tatpeinicsting b. DI AAFIGT AN 1. TG TR
Tl BT VT

(B) Stomach

c. SATER ATeA o1 3faw faa 111 Teoft
d. STRR AT & a8 qIT ST V. Hewd
& o oIS 3TdT & —
Choose the most appropriate answer from the
options given below:

(C) Oesophagus

(D) Small intestine

(I)  Question not attempted
U H HATEN ATel 1 Jad o=l 91T e:

Fr=fafad fasedl § @ gaifas Iugw 39 I4: <t faw T ferarent 3 & wafirer S S
~(A) T A (A) a-lILb-1V,c-1I,d-1
(B) HAMHETE (B) a-ILb-Lc-ML,d-1V
s S e LN
DI A ( a-I,b-1V,c-1l,d-
EE}J y?}qﬁﬁgﬂ,{ (E)  Question not :mcmptedfaﬂ?rﬁ?r'ﬂﬁ
ABC-A13] 3¢ 7 [ Contd...
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27 Choose the incorrect option about the image
formed by a planc mirror. The image is:
Choose the most ﬂﬂﬂm:rprfnrf answer from the
options given below: ()
(A)  Virtual
(B)  Erect and lntcra;li": inverted
(C)  Real '
(D)  Ofthe same sizﬁ:'ﬁs the object
(E)  Question not : attempted
A 40 F an?f wfdferesr o =M & TTed
fasheq =1 =7 fifs) srfaﬁmﬁm%
F=fafae fawegi 4 3, i‘?ﬁ"fﬁiﬂi‘?ﬂ'ﬂﬁi T T
~(A) AT (¥)
(B) i it i ﬁ Eatn
N~ (C)  arfass -
(D) %] = SATHR HT
(E) @iy )
Ty
28  The phenomenon in x%hiich in an image formed by
the mirror, the left uf'ihe object appears on the
right and the right apﬁﬁ;ﬁrs on the left is called-
Choose the most ﬂp;;lll":;lpl'fﬂff answer from the
options given below:
(A) Total internal reflection
(B) Diffused reflection
(C) Regular reﬂect;_iuh
(D) Lateral ruﬂcctinri
(E)  Question not attempted
e vz foril 2oy gmn = wfefin o @
FecTdl @ - ¥
frAfafaa faged o i naff‘aa? IqgH I T
(A) EI'Uf dTl?rffT‘ilU'-{ﬁT-T
(B) fadft (Hﬁ'qﬁil‘ﬂ} QAT
() frafad wmEd :
\;(D] qrd qUEdd ,
(E) SIS

ABC-A13] ¢

18

79  When an object is placed in front of 3 Mirrg,
image for med by the mirror is erect, of the ‘;a ¢
size as that of'the object and is at g X ¢
distance from the” mirror as the object js i o ¢
of it. the mirror 15-

Choose the most appropriate answer from he
options given below:

(A) Parabolic mifror (B)  Plane mirroy

(C) Convex mirror (D) Concave Mty
(E) Question not attempted
qaaﬁa%w?m”wmﬁr@wamm%
yfeferer |4, 38 E‘I??f ER: LEL a-‘;ﬁ'q]:r Sﬁfiﬂm ;
aﬁﬁaﬁmméﬁlﬁmaﬁm%mﬁmam
agqura-

. frerferfa faet § & wratfire 39gw T
(A) TEATH Ert'fur\,{B} ayad g
(©) EHHEE?UT{;I (D) 3aqd gy
(E) AR T4y

Yot
30 Match List-1 with List-II.
List-I (lnstruments) List-11 (Features)
a. Ektara “* L This was beaten
L) with two thick
- wooden sticks.
b.  Algoja € : II.  Main instrument of
™) Bhopon
E. Ravanhat Eh!l [II.  Meerabai usedto
:; play this instrument
d. Nagada IV. Flute like
instrument
A 1-1 =T G=A1-11 Sharer fiyem &1
T (areraien) ) -1 (Fargrean)
A ThAmWr, L0 [ gl HIA A
o+ S g Tl
; SATaT 2
b. TS ’“_;*1 1. 19} =7y 9
c.  TaTEeATRL ~ _III.  Ig arerdd Hiien
ST st ot
d. e V.  aigd siar aradd

"l

Choose the mu‘s‘t appropriate answer from the
options given bélu"w

ﬁﬁqwmﬁﬁnﬁwmmﬁﬁ
"\ (A) a-llLb- Rf >-1L,d-1
Ne(B) -lh-lki A AT

(C) -llbll\/'r..-ld 1!

(D) a-1v, bII[Ic-Id 11

(E)  Question not attempted / A 94

[ Cl}ﬂtd'“
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Which one of the following is not
Choose the mogsy appropriate
options given below:-

a Sufi Saint?
answer from the

(A)  Amir Khusro 0
(B)  Baba Farid L)
;s ; + =
L Khwaja anudc@i:(“hishli
(D) Dadu Dayal l'TFi
(E)  Question not attempted
i 5 & F1-8 g 72 2
fratafed faredt % & waffire sgaw s =
(A) FTHTGEU (B T HE
(C) &S Hee ™ fewdt D) =g e
(E) Aq9Rawus 16
(o

Ll h ~ v .

The life history of the saifits (which is) available
. . .. Y\ ..

in poetry form in Rﬂ_]ﬂﬂﬁli;!['l 1s known as

N .
Choose the most ﬂppmﬁ-mrf answer from the
options given below:

-

'a-

(A) Parchi ('B‘;1I Jhamaal
(C) Vachnika (D)  Jhoolna
(E) Question not attc}l!l' }led

HqT T Siaq =ded GPL- ®Y § USEAH O
3 . 2 .

I B, %?@-ﬁqidl 1T 2

fr=fefad fasredl 4 @ qaifas 3ag™ STt T

N, =A) Tt (B) A
~(C) d=i== (D) Fe
(E) 3aid 94 -
33  Who among the following is the recipient of the
Dadasaheb Phalke Award 20247
Choose the most approptiate answer from the
. . . C:}
options given below: P
(A) Mithun Chakrabn{r;ti/
{H‘} Rel-(h‘a ™)
(C) Rajnikanth ~3
(D) Amitabh Bachchan
(E)  Question not attewgtcd -
frefafaa 9§ 9 fFa EETET%"H ook QERR 2024 °
grfa famar 22 C) _
<3y . foreped # @ W ITGH I T
(A) faga=sFadi (V)
(B) @i &
(C) TSATRI ()
~(D) HAfameead L
(E) AT 94
ABC - A13 | gg

9

35

36

Which of the following is not a Rabi crop n

“northern India?
Choose the most appropriate answer from the
options given below:
(A) Gram Al
(B) Wheat )
(C) Maize G
(D) Mustard (")
(E) Question nEsl lnt{:m[?ted 4
forer 3 & r-eft 3L el © Teft it wEe T @2
frefafaa faseat o & gaifas 3ggw 390 T
D) SRS
(B) 'Plg:;a_, L)
N.(C) HFH u)
(D) ®@Ei
(E) aﬂﬁﬁ?rmr;l;}
i) L iR
The first phase Dﬂ_fl_,Jlaipur Metro Rail Project 1.e
Phase - 1A startﬂ(},.';vas from:
Choose the most appropriate answer from the
options given bel?':v:
(A) Mansamvai':ﬁ} Jaipur
(B) Mansamva}f‘t%; Badi Choupar
(C) Chandpole ;IEEJ"Badi Choupar
(D) Mansamvaf._'t? Chandpole
(E)  Question not Pttemp[ed
S ﬁiriatrﬁu‘@'—]'[ ST TIW =T, =T - 1A &
Lo g Yy _
frfafaa fasedl § & waifae 3ug® 393
(A) qmﬁatﬁl T
(B) uﬂuﬁat%,ﬁhﬁqg
(C) aiaﬁa@rag.’:’t,a*rqg
N\ (D) AEEELH SHiEdd
(E) 3T 94y )
. .
Name the n]dest;t:c!rrt situated on the banks of
river Ghaggar:
Choose the most ﬂ}Jprﬂprfm'if answer from the
options given bEl'i’wf
(A) Nahargarh : rt (B) Bhatner fort
(C) AmerFort ... (D) Jaigarh Fort
(E)  Question not attempted
T &t 3 e X gt Wit fehett a2
freferfiaa fereredl # @ Aaifas I9gw ST I
(A) e R \(B) TR
(C) fdar,, (D) SETG Ihdl
(E) 31l w4
| Contd...
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37 Brahma Temple is located in which place of | 40
Rajasthan?
Choose the most appropriate answer from the
optons given below:
(A)  Banswar (B)  Jaipur
(C)  Pushkar (D)  Alwar
{E} Question not nlicmpted
STRIT Hf~2X TSieT 3 i oy 11 ferg 29
Ffcifas faeredt § @ watfira soaw 39 T
(A)  &HdTET (B) SAY
(C) T (D) 3T
(E) i wg
38  Who in Rajasthan is remembered as an icon of 4]
bravery, self-respect and sacrifice?
Choose the most appropriate answer from the
options given below:
(A)  Vnay Singh Rathore
(B)  Amar Singh Rathore
(C) Maharaja Gaj Singh
(D) Rana Sanga
(E)  Question not attempted
T o g Sered, S{req g 3R afiee %
Stefic 35 & & 972 Toha T 27 =
Fefciad fasedt 3§ | aifaes 3ugw™ I H:
(A) Toeg e e B) s faz et
(C) WERIST TS e (D) _ T §im
(E) &Adia 94
42
39 In Rajasthan a special economic zone for Gems
and Jewellery has been established at:
Choose the most appropriate answer from the
options given below:
(A) Debari - Udaipur
(B) Boranada - Jodhpur
(C) Sitapur - Jodhpur
(D) Bhiwadi - Alwar
(E)  Question not attempted
1 T el fehet T €2
frfefiad fashedl 4 9 @aifas 39g® 39 T4:
N(A)  ZEr - (B)  SIATET - SYQ
(C) Hramqr-siage (D) et - s
(E) SR wd
ABC-A13] 3¢ 10

word ‘chhe’ indicates the Gujarat; i“ﬂum

Z:ivhich of the following ‘%iﬂlEﬂS? g
Choose the most appropriate answer fro., the
. g piven helow:
it B) Dider
(C) Wagad o R
(E) Oucﬁtiﬂn nf':t attcmPfEd
orez <3y FN-HT ST TSI T Z7iay )
e et 8 FaTffere 399w
(A) et X(B) TEEI¢
o (C) anrd (D) HaTdl
(E) TaRasH
Which is the biggest fair of Rajasthan’s triba]
society?
Choose the most appropriate answer from the
options given below:
(A) Shn Mabhavirji Fair
(B) Kapil Muni Fair
(C) Beneshwar Fair
(D) Kaila Devi Fair
(E) Question not attempted
U1 & STCaTe! THTS T Ted FST IAT A
29 :
frafafad faseal 9 & waifaes 3ug® I -
(A) #ff HETERST HAT (B) gt i Hel
N (C) U HeAT (D) et <t Hell
(E) 3Tt g4
Which fair-is held at Bhavgarh Bandhya village
near Jaipur?
Choose the most appropriate answer from the
options given below:
(A)  Khalkani Mata Donkey Fair
(B)  Sheetla Mata Fair
(C) Karni Mata Fair
(D)  Kapil Muni Fair
(E)  Question not attempted
F%ﬁwm__@mﬂﬁﬁﬁ?—mﬂwm
) i
Frerferer ferred i & wrartforas sagw S00E
N(A) 2t @R grar T A
(B) Yt wmar fey
(C) TRt 7T frer_,
(D) mﬁagﬁﬁm"‘
(E) smaf@wer |
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43 Identify the charactenqnc featur

¢s of tl :
region in Rajasthan. 1e Aravali

1. The A
ravali nmunlams are also called
Aadaval D i
a mmml'un,l
b. The
Aravalj mountain range is regarded as
one of
) the world® s 0ldest Mmountain ranges.
c
1s I'.IEIEhl mcrc'l"-:.ca from South- -west 1o
North-east. (
(Y)
d. Gurushikhar ig

the, highest peak of the
Aravali ranges,
Choose the most appropriate

| answer from the
options given below: )

(A) (). (b) and (d) cm'ly

(B)  (a), (b) and (c) cmly

(C)  (a), (c) and (d) mﬂy!

(D) (@), (b). (c) and @

(E)  Question not attemptcd

TSI H IWEe! 8 fg fasraarsti i ygam

EAIELY i

a. AT q&q I STS[ET TETS T Fel S
Bl ™ 9

b. WU wdd sEarifag # arfad odq
FEAT T STt 210

c. mﬁﬁéa’fﬁm{ﬁﬁmﬁmuﬁfﬁaﬁt
TR <

c:l. _TEITE 3| aﬂmlﬁﬁaﬁﬁﬁ?ﬁ\%‘f’

ﬁqwﬁmﬁ%nﬁmmwﬁ
(A) A (a), tbwﬁud);
(B) FAd (a), (b) A (c))
v (C) Fa (a), (c) AR ()

(D)
(k)

(a), (b), (c) 3R (dgfi
HAAT 94 -

44 Rajasthan is situated in the, part of India.

(A) North - Western(B)] North -Eastern
(C) North-Southern (D)} East - Coast
(E)  Question not aueﬁ;p’lcd
TTSTEAT T o i fee @1
N~ (A)  Suufi (B), m-qu-q‘,
(C) IuL-gteofi (D) 9gdide
(E) Agafta w4
ABC - A13 ] 3% 11

()

46

47

Which of the following is not a metal?

Choose the most appropriate answer from the
options given bu::luw:{:‘
(A) “;] (B)
(C)  Phosphorus ;- (D)
()  Question not, Ettcnlptcd

ﬁmﬁfﬁﬁﬁ%aﬂ?mﬁqﬁ%ﬂ
Freferfiae fareredt § Waafares U 90 T4
qur (weRdt) ) (B)  @ifeIH

"t 3 I'-:}{D) a ﬁﬁ
AN 9

{

Mercury Sodium

Magnesium

(C)
(E)

i

=

i ( ;
Sahitya Akademi A’w;}rd winner Rajasthan Poetry

‘Mugtee’ is aulhorﬂd by
Choose the most ﬂp}f!"ﬂpﬂﬂfﬁ' answer from the
options given bclmy*
(A) Chandrabhan_ Khayal
(B) Khalid Hussdin
(C) Arjun Chawla
(D) Meethesh Nitmohi
(E)  Question notidttempted

aifecs  3TehTeHT qTF:ER fasar, s wfaan
_UEr hEEE: O
ﬁmﬁ@aﬁaﬁhﬁ*@wﬁwmmaﬁ
(A) T=EME T (B) @Ti%izgﬂ?

(C) T =T \‘-"(m e Frtet

(E) aqqﬁﬁamr 2

Identify the persuniﬂ%m Rajasthan, awarded the
Sarvottam Jeevan RaKsha Padak (Posthumously)
by the President of Iﬁala in 2021.

Choose the most up_praprmre answer from the
i)
options given belmxgﬁ :

(A) Anil Kumar ”,] -

(B) Jatin Kumar .-

(C) Ramavtar Godara

(D)  Gyan Chand ¢y

(E)  Question notjattempted

wa%ﬁwaﬁeﬁmmﬁm%aﬂt
fS=8 2021 ¥ wRa i Yreafa g0 waiad Sitad @
Ugeh" (WTOTTITia) § qeqiia foram mam o

frafafad faereat 4 & waffears Iugw I9 T
(A) T FAR ""1{[3) Sifa FAR
(C) ITH]T:E!HTﬁETI‘"(D) IA IS
(E) o1afa 94
| Contd...
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49

50

ABC-Al13]

Who was the I" Pruuh:
Choose the

nt of India?

Mmost appropriate answer {rom the
Oplions given below:

(A)
(B)

Shri Pranab Mukherjee
Smu, Droupadi Murmu
(C)  Smt. Pratibha Devisingh Patil
(D) Dr. A P.J Abdul Kalam
(E)  Question not ; attempted

w%lﬂ%maﬁqﬂw

Who is known as the Father of Genetics?
Choose the most appropriate answet from the
options given below:

(A) Hugo de vries (B)
(C) Bateson (D)

G. J. Mendel

Charles-Darwin
(E)  Question not attempted
STTIETSTERT o S, fofres et ST 22
ﬁHFmT@ﬂféﬁﬁﬁﬁﬁ?fﬁﬁﬁﬂgﬁmﬂﬁ:
(A) wmEHEE N\, (B) . g=q
(C) weda (D) aTed e

(E) SAqafta9a

Which of the following is not a part'efthe human
respiratory system?

Choose the most appropriate answer from the
options given below:

(A) Larynx (B) Bronchi

(C) Alveoli (D) Medulla

(E)  Question not attempted
Frefetfad 8 @ F19-81 aa a6 & 7 16 2
Frtferfiaa foredt & wratferes g s .
(A) 2 () (B) &,

(C) FfarTd (ufeaatedn) (D) Hgem

(E) oA 94

AN

Y4 12

(D)

52

\A©)

— —

During exhalation, the ribs-

Choose the most appropriate answe, frg

options given below: .
(A) Move down and inwards

(B) Moveup and outwards

(C) Move down and uul.wurds

(D) Move up and inwards

(E)  Question not attempted
TeaE % AN GEierl-

Frerferfiaa et ﬁﬂﬁﬁmwgﬁmﬁ:

(A) et 3T 37ET T ST TIFT Feht
(B)  F9T T AR T AT Feeft §)
() e 3 amet it S Fet ¥
ST 3T IS T ST T et §)

R — Y 1

(E) i@ 94

Match List-I with List-II.

List-1 List-T1
a. Gobar gas plant [ Iron scrape ang
broken plastic
items

b. Vermicomposting II. Solid waste

c. Land fill [Il. Cow and buffalo
dung

d. Recycling IV. Earthworm

-1 |ra g=h-11 1 fire fifd

-1 -1

Ty 62 L ?ﬁ%ﬁrzﬂmaﬂc@

BT AT HTHHH

b. aHisaiET [I. 39 37ufre

c. i o (SefFen)\ 11, T 37 sy F R

d. gFesRur V. Fa |

Choose the most appropriate answer from e
options given below: |
1 e e vt 3 & wratfiren s ST
(A)- a-Lb-1lLc-11.d-1V

(B) a-1Lb-1V,c-111,d-1
__i_1~_l_lI,_|:_1_:__I_V, c-1I,d-1 |

(D) a-1lLb-1,¢c-1.d-1V |

(E)  Question not attempted / Wﬁagﬂ
[ Contd
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Penicillin was discovered by . 56 Maru Raikas are the pastoral groups of Raikas
Choose the mast appropriate answer from the |
options given below: Wi ﬂ_m- . ;e answer from the
(A)  Robert Koch C'h[.mhc l!n: ml:l.'.lf appropriate a
B - options given below:
:C; E:::r:_i:::r (A) Cattle herders (B)  Camel herders
(D) Alexander Fleming €) Shesplerders (D) 'Guatherdos
(E)  Question not attempted (E)  Question not attempted -
aﬁ'&lﬁq’?ﬂa'[ﬁmﬁ“ Sewre R v TS T 9 ST 6T ST 36 A §YE
ﬁnrf%rﬁa?rﬁmﬁ#waﬁ%mmaﬁ
ﬁnﬁ?ﬁaﬁﬁamﬁﬁﬁaaﬂ%mmgi: ol i obinle
(A) TT = B) TeTd I (B)  FE e
VO R YD) iR (€) ISTH I
(E) qdiawy - (D) AT =Rl 9TeTd &
(E) I7dita 94
54  The first woman president of the Indian Olympic
Association is: 57  Gaddi shepherds belong to-
Choose the most appropriate answer from the Choose the meost appropriate answer from the
options given below: options given below:
(A) P.V.Sandhu (B) Smriti Irani © (A) Maharashtra
(C) SudhaMurti (D) P.T. Usha (B)  Uttarakhand
(E)  Question not attempted (C) Himachal Pradesh
YA A9 T hiT 99 GfEar aveqey 19 87 (D)  Rajasthan
ﬁﬂﬁfﬁﬁﬁﬁﬁﬁﬂ‘ﬁﬁaﬁﬂiﬁmmﬁﬁ (E) Question not attempted
(A) 9Tt EY (B) mﬁrémﬂ _TTEl i (A1) Hey TEd @-
(C) gargld (D) WL frerferfae faeredt & & waffires ugw sat
(E) A 9% (A) HERE Y (B) 3IWEsd
N (C) fumawRwd (D) ToEEd
55 In sports and games the Dronacharya Award is (E) igafa
given to:
Choose the most appropriate answer from the {ogg-  \Which of the following is the pastoral community
options given below: of Rajasthan?
(A)  To eminent coaches Choose the most appropriate answer from the
(B)  Players of Olympic Games options given below:
(C)  Players of Commonwealth Games (A) Dhangars (B)  Gujjar Bakarwal
(D)  Players of Archery ' (C) Gaddi Shepherd(D) Raikas
;2[%?1”“5!'““ n:{:ﬂnﬂg;;m 3, (E)  Question not attempted
Frrferfas faeedt B & waffires 39gw 30 34 %_i '} STERY S 0 5137 SIS 1 oY S
\(A) eI gfEE - ettt ferredt 3 & wraffires Fuge SCT:
(B) aﬁaﬁmmmwﬁ ) B) T
(€) T & e € TR \D) TEH
(D) dtigrsit 3 faenteat =
: (E)  3¥aita 94
() . ) | Contd
ABC - A13 | gg 13
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mirror is also called as

convex
S9  In Rajasthan under the Mukhyamantri Nishulk 61 Ehﬂc}se [hC\_&'”“ ﬂ{’ propriate am " '
Bijh Yujanm@nmestm Subsidy) free electricity ﬂptlﬂﬁﬁ L‘”?Pl?::::rm
(Zero bills) lis) provided to consumers whose (A) Pi::i:br;m ificor
electricity c?ﬁ%urnpnnn is units. per EE; Conveigent mirror D |
i tY) (D) plané mhirror ‘3 4
Choose the mdst appropriate answer from the (E) Ques‘lla“ not attempted '{
options givclﬁ%lnw: off hEd & {
(A) 250 Units  (B) 100 Units
(C) 150 Units (D) 200 Units
(E) Quastuﬂﬂ not attempted
T § g@na"r Freye forerett AreT (L
afewel) & Wﬁ’f 3quﬁ?m3$ra?r e ferstett (717 Name the gejentist who proposed the Layg,
foret) wer 9wt @ et @ra 7fye | 62 Inierllﬂﬂf 40 |
gfaHTE B E;] _ Choose thé_shost appropriate answer ﬁ'ﬂm!
ﬁﬂ%‘ﬁﬁﬁﬁmﬁﬁﬁaﬁ?ﬁ?ﬂﬂ?ﬁm ﬂ%ﬁ options given below: |
(A) 2507 N\ (B) 1007 (A) Newlén
(C) 1503F@ (D) 2007fE (B) GregdrlMendel
(E) Iaiayy (C) T.I-InM'F}rgﬂn
. (D) Harg@md Khurana i
() | (E) Qucsﬂan not attempted |
60  Which scheme provides employment opportunity TR 3 fﬁ&" 12 aret Azl A
to the unemployed youth by providing them et -ﬁﬁﬁﬂmaﬂ'ﬂ?ﬁm.
emplnyment%%ented skill training? (A) =T \ (B) T HEd |
Choose the fr:ﬂsr appropriate answer from the N@©) A wa b (D) g{rﬁﬁ'zlgtm j
options giveqﬁeluw: (E) § a4
(A) RojgarJan Kaushal Skill.l(aryakram &5 Witk i iliceiios: i; nol 3 Law
(B) Rajastf? Jan Kaushal Vikas Karyakram Iihiegiance
(©) Rujgar;_;iiAadharit Jan Kaushal Vikas Choose the {}ﬂi’ { appropriate answer from ¢
Karyalgralm options ;:w?p below:
(D) Rajasthan Jan Kaushal Skill Karyakram (A)  Law ofiSegregation |
(E) Quesu::nn not attempted (B) Law of Dominance |
eIl ?ﬁﬁm%mﬂt arl i ARG rerer (€)  Law'afiAberration |
gfgreor 9eH ‘é!;'@‘? TSI &Rl 3TET U Fd] 2 EE]) ;ﬂwsgg]“dﬂpendem Ajggﬂmenl 1.
' T3 uesuon not altemple
() s S HI fohT (B) ?ﬂﬁw
(D) TS S et Rahet Frdspy \(C) ﬁw’f(@“{mwﬁm
(E) i 34 EE} LSDES SYSTEA g
) ) AfafE ug
ABC-A13] 3K 14 :
...,
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64

66

' Crpa
pl‘t’:ﬂldﬂ'nc}: of Ind;
Choose

Meetingg for G-
4 Was held g¢-
approprigte

20 under the

the mogy

oplions given belq answer from the

Wi
(A)  Udai '
(C e (B)  Mumbg;
1) Jaipur D) s i
(E) " Question not ﬂuemptud urat

@ Wﬁhmmaﬁ
(A) ST (B) wwd 5
(C) AR (D) T
()  3Taf g )
! ’e h
:1 !;a::re was the 20" edition of India-USA Joint
funlary  exercise  “yyudh '
conducted? sz

Choose the most appropriate answer

_ i from the
options given below:

(A)  Madhya Pradesh

(B)  Gujarat

(C) Odisha

(D) Rajasthan

(E)  Question not attempted

HA- A TIF =7 SN I 371 2024

2 2

=T 20T HEHT0T Shel RN fRar T
Fefatad fawedl ¥ & gaifas svaws 39

(A) HET QT (B) TSI
(C) 3fifgam (D) TSI
(E) Saia g™

If we cut an apple and leave it in a plate for some
time, it turns reddish-brown in colour. This is due
to the formation of

Choose the most appropriate answer from the
options given below:

(A) Calcium oxide (B) Iron oxide
(C) Zinc oxide (D) Magnesium oxide
(E)  Question not attempted

Ifz & U T F1 FIEH FS G99 F [0 <l H BS
éﬁ%,ﬁﬂﬁm-ﬂjmdﬂg’mml%lw

% 99 & ST BT &l +
Frerferfiaa fasred! i @ wafires JUT ST
(A) Ffcaaq sA=EES
(B) 31O 3a415S
(C) TS 3fTadTsS

NUD) Ay siEErEs
(E)  7gaiea 94

ABC-A13] %¢

15

67

68

69

Which of the following™ will float on water?
a.  Air filled balloon b. Sodium

c. Potassium d. Goldring

¢.  Steel spoon

Choose the most appropriate answer from the
options given below:

(A) (a)and (d) only

(B) (c), (d) and (e) only

(C) (b), (c) and (d) only

(D) (a), (b) and (¢) only

(E) Question not attempted
ﬁﬂﬁ—rﬁaﬁﬁﬁ?ﬁq-‘éﬁaﬁﬁuﬂﬂ o FH9L dTdT 87
a. TANEYITEMIN. b, @ifsad

c. Urefirm d. g &
e. EAFTImT b
o1 few v et & & watfares sugw sav
(A)  &a (a) 3T ()X ” .
(B) e (), (d) 3 ()

Fad (b), (¢) 3 (d) <

S (a), (b) 3 (c)

AR U4

A certain sum becomes 8 times of itself in 18

years on compound interest. In how many years
will it become double of itself?

IS TR Tshafg =T 9T 18 997 & w4 1 8 T &
STt 1 e Faret it T bt St & st 2
(A) 8 (B) 5

(C) 6 (D) 7

(E)  Question not attempted / 3T T4

Ifa:b=2:3, then whatis (a + b) : (3a - b)?
ARk a:b=2: S,Fﬁ{a +b) : (3a—b) FTE?
(R} D2 (B) 3:5

(] 2:5 ()] 533

(E)  Question not attempted a’aﬂ_ﬂ'ﬁﬁ'&rﬂ

The sum of three numbers 1s 196. If the ratio of
the first number to the second numberis 2 : 3 and
that of the second number to the third number is
5 : 8, then the first number 1s:
= @Ersil @ A 196 21 Al geddll ST @l
GEATSHY T STAATT 2 ¢ 3 2 quT qudl SN et weean
T STATA S : 8 @, dl Geell HEAT @
(A) 120 (B) 60
(C) 80 (D) 40
(E)  Question not attempted / JITAT T

| Contd...
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74

The ratio of the average of two numbers 10 one ol

-3 What is the ratio of the larger

the numbers is 2

number (o the smaller number?

3 T ¥ srad FH I A ok s S
1%|ﬂ%ﬂwmhmmma§mﬁ?ﬂ%’

(A) 3 (B) 4:]

(C) SN (D) 2:1

(I) Qllhltﬂﬁ not attempted / 3T T4

A shnpkcc]wr sold an item for T 1188 and bul_’ll.“rﬂ'tl

a loss u'i’ 10%. At what price should he hive sold

()
the m.m 0 g 1in 20% profit?

U dﬂuldqltfﬂﬁaﬁaﬂ Z 1188 i AR, AT
10% =1 R ITAT 21 20% T 9TH F (€18 38
e 13 {773 8 F=7 =)

(A) 1675

(B) T1567

(C) <1657

(D) % ;584

(E) Q;l_l__estinn not attempted / 343:?11:{3"9‘?1

-
Rohan buys a wrist watch at %
. ™) . . - Mgl -
price and sells it to his friend at price whichiis 8%

more lhfzi% its marked price, his profit percentage

of its=marked

1S
nﬂqaifﬂéﬂérm sifefd 9o F 5 e &
3 s A sifepd 9o | 8% arrﬁﬁqre?fam

2| THF]ATH FiaeTd &-

(A) ﬁ?‘%ﬁ
fon

(B) 28%

(C) 30%

(D)  35%

(E)  Question not attempted / mg?rf_tasr‘ex
9

The L(}H-pri{.{. of an article 1s % oL its selling

ce. ﬂll- profit percentage in this transaction is:

FI!'I

ﬁmaﬁﬁﬂmmﬁwmm 3 3=y
Sq-29 @ %1 ufard -

(A) 25% (B)  15%

(C) 20% (D)  24%

(1) Question nol attempted / 311?1‘!?[11&1

Y4

17

\uD)

: - 1oa following Structures is a

wWhich of the fol ‘ ‘Shﬂn foy
[ pond. found mostly. in western Rajasihaon

QO -

Choost lhmmmr rrp;:ruprmre answer frop, "
¢

options £ ojven be
(A) L“Rﬁ'
(C) Nil:.'-l.i :

(D) I\hddm
!
Qm.atmn not attempted

ﬁﬂﬁf@ﬁqqaﬂ?mmﬂmﬁ'ﬂmﬁ
M qﬂlﬁumﬂwtmﬂm%: i

ﬁﬁﬁf@m Hwaff‘wammaﬁ
(A) I

(B) El'fT’

(C) arar )

(C)  SFAna 94
i© ) .
o )
Under lhiw prnject the surplus water of Ravi-Bex

is un[ucd for irrigation in Rajasthan.

Choose l{m most appropriate answer from the

options Lllﬁgn below: I'

(A) 'F-'.ldhr]]ukh Dam Project I‘

(B) Bisalpur Dam Project i

(C) Panchana Dam Project |

(D) Gandhi Sagar Dam Project

(E)  Question not attempted

TH gfEsED & mﬁ%m} =1 SAfaf 7

T | TS & oo fera ST 2

Freiferfad et i & aifie 30w I
\(A)  faga st ufErsE

(B) ﬁlﬁ?ﬂ‘:rt T qﬁ:q'TaqT

(C) ﬁamamtrfmﬁrm

(D) Wﬁffflmwcr&mw

(E)  3afa wer

\O _
What is the'Jeast number which when divided b

"’ — - i
12, 15, 18 and 20 leaves a remainder 3 10
case? -

Fad G e e @ R 12,1518 M08
ﬁqﬁﬁmﬁmmﬁuﬁﬁfmsmﬁ?

(A) t'-n 1 (B) 177
(C) 186~ (D) 267
(E)  Question not attempted / ﬂﬂf{ﬁgﬁ

[ Contd~
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“f What is the least number which when decreased ﬁ In which of the following animal products, the
Iﬂj_i!ﬁ‘i 1S exactly divisible by 10, 12, 14 and 1 189 minimum percentage of protein is found?
5 HE W%ﬁﬁﬁc!ﬂaﬁma‘: 10, Choose the most appropriate answer from the
1._.. 14?[?-” ]H aiuh Wﬁaﬁ%«} “p[i”]‘ﬁ; givm] hﬂlf'l-"lﬂl-":
(A) 1260 (B) ¢ 1] 256 (A) Mecal (B) Cow milk
(E)  Question not attempfed / (E) Qucwtmn not at[r:mplccl
‘ pled / 77afE Wy
g ﬁnﬁfﬁmﬂiﬁrﬁmaﬁmnﬁmqmm
70 What 1s the ereatest - N s -‘*‘JI'-I?IT[%:TT-IT%”
b ; C r."? number which divides 149, ﬁ'ﬁlﬁﬁm e ﬁﬁﬁnﬁ%mqu
248 and 623 leaving remainders 5. 8 and 11 N
T\I"\ b LA) qrg (BJ M <l a4
respectively? e & (iDj =
UH! T T ST R, 149, 248 qT 623 : 5
(E) Aqafa 94 =
I [T 8 9T SHAT: 5fﬂ@ﬂtllﬁﬂaﬂﬁ1%ﬂ bor
(A) 15 (B)(720 83  The system of farming where crop production
< 9 (D)CN12 and raising of livestock etc. are done on the same
(E)  Question not attemptéd / aﬂﬂﬁ—c{m; farm is called as- ,
Q. Choose the most appropriate answer from the

options given below:

80  The Foot and Mouth disease of cattle is a-
(A) Crop rotation (B) Organic farming

Choose the most ﬂpprﬂpr}ﬁe answer from the

options given below: LE; (C) Mixcc} farming (D) Mixed cropping
(A) Plasmodial disease ; - S QU,ES“D“ o fttempwf'l
, ) . et (FITHT) 1 T8 aderT o wEe 3cq1eT AT
)  Viral disease a8 Wﬂﬁt{iﬁ%ﬁwﬁ (B 3 FoFu S 2,
(C) Bacterial disease (\ . 3 18
(D)  Fungal disease (7} ﬁm%ﬁaaﬁm‘rﬂﬁﬁﬁmmmm
(E)  Question not altempf&d (A) SO 0T (B) ﬁﬁm@?ﬁ
ﬂ?rﬂiﬁrm e I &- - N\L©) fBmadt ) fbrwwa
Frferfaa %mﬂqaaﬂ?aimma# (E) smaf@ws i) .
(A) TATSHITESTH U (B) nf%rmerﬁ?rﬁn -
(C) S SfAg T (D) C.)maﬁﬁm 84  Which National nghway does not pass through
(E) m Ty e the Rajasthan? Al
= N Choose the most npprﬁp{fﬂff answer from the
81  The highest percentage of(fdf is found in which :’E;’D“;a‘t‘:’;:ﬂ?*:[‘:‘h“ 13: -Nn P
animal product? Ji =
| 1 - , . Vi (B) National lllbhwﬂyflﬂu - 11
bopse e pleet uppmpr:j;f i e (C) National Higlnvuy_,l}m - 10
options given below: T _ (D) National Highway-No - 44
(A) Egg (B) C}CDW milk (E)  Question not attempted
(C) Meat (D) (~fish | T T TSTE & Bt Tel TSI 22
(E)  Question not attempled =1 few o faercqi ® ﬁmﬁwﬁaﬁ
%qumrrama?ruﬁmft\_, gatfud: w11 27 (A) U Tswn §E&r-23
St fedl § @ @aifire Iagw A (B) U o €& - 1
(A) e \(B) CIT/I %134 (C) T TS HEAT - 10
©) W (D) " (D) TS w4 - 44
(E) i w4 (E)  SToRE v Tond
i ontd...
ABC-A13] 3¢ = |
N
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85  Which of the following citics in Rajasthan is
known as the ‘City of Stepwells’ duc to the
prominence of Bawris?

Choose the maost appropriate answer from the
options given below:
(A) The City of Ajmer
(B) The City of Udaipur
(C) The City of Bundi
(D) The City of Jaipur
(E) Question not attempted
Erfrfiaa § & T S RS e At £l
epEa 3 FR T ST TYaed’ el 62
Freferfiad faaed! 3 & watfers Iag A I
(A) 3TSHT IR (B) 3T I

\(C) AR (D) AL IEX
(E) aia ¥4

86  According to the Census of 201 1. which of the
following districts of Rajasthan was the second
largest populated district?

Choose the most appropriate answWer from the
options given below:
(A) Alwar (B) Bikaner
(C) Jodhpur (D) Jaipur
(E) Question not attempted
SETTOTAT 2011 3 STET e § § ST 6 AT
frfafiaa faswcdi § @ gaifie g™ Sal I
(A) I (B) &hMT

N(C) STUW (D) SAE
(E) 3ARd 94

87  In summer, hot dry and dusty winds which blow
in Rajasthan are known as:
Chr:msu the most appropriate answer from the
options given below:
(A) Fohn (B) Loo
(C) Chinook (D) Norwester
(E)  Question not attemptied
ﬁdﬂqﬂﬁg:&agﬂﬂﬂﬂm‘ﬁﬁw"ﬁwqﬁﬂﬁ
P Teehedl 5 8 Waifers: suges sav g
) B) @ ¥
(©) fow (D) e
(E) SAqai@ a4

ABC - Al13 ] gﬁ

18

88

89

(A) Mavath

(B)y The Blossom Showers

() Kall Vaishak

(D) The Mango Showers

(E) Question not attempted

oftq R § T & FD i e

i 2 B ATl e T T 22

ﬁﬂ%ﬁgﬁﬁﬁﬁﬁ H’ﬂﬁaﬁauﬂ'ﬂﬁmﬂﬁ
\(A) TMES B) el AT

(©) FTcT-STd (D) AT =t

() a9

In the winter season rainfall occurs in some parts

of Rajasthan due to the Mediterranean cyclones,

which 1s called

Choose the most appropriate answer from the

options given below:

¥
§

Which of the following are exotic milch breeds of
cows? !

a. Red Sindhi b.
c.  Tharparkar d.

Jersey
Brown Swiss
e. Holstein-Friesian

Choose the most appropriate answer from the

options given below:

(A) (d)and (e) only

(B) (a). (b) and (c) only

(C) (b), (d) and (e) only

(D) (b), (¢) and (d) only N
(E)  Question not attempted

ﬁq%%ﬁﬁﬁaﬁq-ﬁagéﬁareﬁmﬂaﬁrﬁiﬂ.
TEA 27

a. e e b.
c. YUY d
e.  BICHIH-SHIRRATT ~_
WﬁmﬁmﬁﬁwﬁmWW?ﬁﬁ

¥

o

;ﬂ—gﬁ'\_
3T =E Ao

A

(A) = (d) 3K (e)
(B) A (a), (b) 3 (c)

eI (b), (d) 37 (e) _;.
(D) e (b), (c) 37 (d) i
(E)  313afa wa }
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91

\lCI

92

(A
\; (B)

According to the Census of 201 the lowest sex
ratio 1s found in which district of Rajasthan?

Choose the maosr npprnprmu answer from the

options given below: e
(A) Nagaur (B)  Rajsamand

(C)  Dholpur (D) Dungarpur

() Question not afteinpted

2011 aﬁm%aﬁgﬁnw%ﬁm%ﬁﬁ
mﬁm%ﬂwww

W%@aﬁmqﬂmﬁammaﬁ

(A) IR W(B) TR
(C) HIETgE D) Fmy
(E) ¥gafmyg O

ol

e—

(Y
Sagarmal Gopa a dEII]?CI‘ﬂI and freedom fighter
belonged to which qtale,

(A)  Delhi “(B) Punjab
(C) Rajasthan (D) Uttar Pradesh
(E)  Question not attémpted
THgEEa ey O
(A) Te=t \TB} LEIE]

HELIE qj} I WS
(E) 3Taita 94 .rr"}

=
Which of the following staltes were merged in the
first stage of Integration of the present Rajasthan?
Choose the most appropriate answer from the
options given below:
(A)  Pratapgarh, Shahpura Tonk
(B)  Alwar, Bharalpur Dholpur, Karauli
(C)  Bikaner, Jalpu;.;..];msulmer
(D) Banswara, Bundi, Dungarpur
(E) " Question not attempted
T TTTEAT 3 V0T 3w <oy 3 Rt
R {6 et a5y wmifaret fept e
e famei 3 g waiferes Iuge I :
) Hﬁm@ e e

*-Jf‘r'
©) e, s, e Q{?’CD

D) arwarer, 44, 2o

93

94

19

N(C)

. 44 10
Who opened almost 300 schools between 19

1956 in the desert villages of Bikaner?
Choose the maost appropriate answWer from the
options given below! |
(A)  Kripal Singh®.
(B)  Komal Kothdri’
(C) Swami Kcahw;i’mml
(D)  Acharya Tul:?: i
(E)  Question notattempted
T8 -1944 B 1956 3 =i =ftapm & LT mar |
ST 300 Fhel @i,
ﬁﬂ%ﬁaﬁﬁmﬁﬁwaﬁhmmw-ﬂ
(A) FafEe ) (B) Fr AT
Tt e (D) ST qerH
®) s )
: (7)

Select the incorrect
properties of non-metals.
a. Non-metals are found in all three states of

matter.

statements about the

1£)
Except dmmgnd all non-metals are ductile.

Graphite is the- Jardest non-metal.
Bromine is ajiquid non-metal.

lodine is a lustrous non-metal.

Choose the most dppropriate answer from the
options given below:

(A) (a), (b) and (e) only

(B) (d) and (e) only

(C) (a), (b) and (d) bnly

(D)  (b)and (c) onily

(E)  Question not* Eﬁempted

Tt it e & i srger w1
Hiftm (4 N
mmﬁﬁmﬁwﬂmﬁﬁ
ﬁﬁmﬂ‘ﬁmmﬁ?ﬁélﬁ-
UTHISZ Herdl I 1T 1Y

S Toh 7 31T 21
mﬁﬁﬁqﬁﬁm%lx
ﬂ%ﬁqwﬁmﬁtﬁmﬁmmmm
(A) A (a), (b) SR (e)

(B) e (d) 3R

(C) e (a), (b) SR (@)

ﬁﬁﬁ{b)aﬁtfﬂ

(E)  37afa w4

o p o o

a0 g

| Contd...
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ABC -A13]

N\B)
(

Coated with tin and not with zinc
because.

Ch?me the most appropriate answer from the
Options given below:

(A)
(B)
(C)

Zinc is less reactive than tin.

Tin is an inert metal,

Zine has higher melting point than tin.
(D) Zinc is more reactjve than tin.

(E)  Question not attempted

TN & feaalt (@) v fiien 3 v o o o o 5t
e A - LG
ﬁ%ﬁﬁﬁﬁﬁmﬁmwmrgﬁ:
(A) TS, fo & 7 Foparafien 24

e ue Faft arq 2

IS 1 e, fo < arem atfss 2T 2)
ﬁ?,ﬁ?ﬁaﬁmﬁmﬁﬁaﬁ
ARG U

C)
(D)
(E)

Match List-1 with List-I1.
List-I List-11
(Name of Tree / (Utility of Trees/
Wood/Grass) Wood/ Grass)

a. SAGWAN TREE 1. Making coal

by burning it

Animal fodder

Making tools

of Agriculture

d. SEVAN & Making packaging
DHAMAN boxes

-1 3 AT F1-11 1 e iy

Tl -1

(T /AR (FAT/ARZY/

T A1) °TH i IULTHTaT)

a. HIEEIA [ 3H ST FHIge

b. SALAR TREE 1.
c. DHOK I11.

Choose the most appropriate answer from the
options given below: |
e faw o faeredi 4 @ waifas 3uge® .
(A) a-IV,b-1lc-1I,d-1
a-II,b-1l,c-1V,d-1
a—ll],b-lv,c-l,d_-__y
a-I.b-1l,c-11I,d-1V

Question not attempted / At uy

Y4
Z%

97

98

20

D

which one of the following nagjg, Pa

P ous for conseryat;
sanctuaries is fam fVation ¢ fnﬂsih
in Rajasthan?

Choose the most appropriate ansye, from

th
options given below:

Sariska Wildlife Sanctuary

A
EB]} National Desert Park, Jaisalmer
(C) Keoladev National Park
(D) Ranthambore National Park
(E) Question not attempted
Fret & & AT TS SET/ITART Ty
Sfraredt o e % fore uftg &2
Frafirfan et 3 & watfies sugm s
(A) EIER TS AT
\A(B) T A UM, JEe
(C) wadlied UL 3T
(D) TR TS 32T
(E) 3rgaid w
The Bhakhra Nangal Project is a joint venture of
Choose the most appropriate answer from the
options given below:
(A)  Punjab & Haryana
(B)  Punjab, Haryana & Himachal Pradesh
(C) Rajasthan, Haryana & Himachal Pr«fi'ﬂfff*tl
(D) Punjab, Haryana & Rajasthan
(E)  Question not attempted .
TGSt ATt ftismr 251 O 6 3¢
Frtfeifia faehect 3 & wraffores swaw SR
(A)  9SITer 3 g
N\ (B) e, B s femmeret waw
(©)  Tream, &l aik fegrae @O
(D) g, wfmr siv e
(E)  safusy
[ Contd-
_d
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99

100

10]

.

\-..m; EIDEA

The Construction of the Ganga  Mang;
Bhﬂrmpur wias started b}" Mﬂh l i
Slngh in 1845 and
continued for
Choose the most appropriate answer from th
options given below: )
90 Years (B) 10 Years

20 Years (D) 60 Years

Question not attempted

@@ & T AR i e s fim
gar 1845 B YF 1 W or ai oy g
STRT &

araja Balwant

the tonstruction work

(A)

Which type of turban is worn by the men in
Rajasthan on the occasion of marriages?

Choose the most appropriate answer from the
options given below:

(A) Mothda (B) Lahariya

(C) Madeel (D) Antiwali

(E) Question not attempted

TS H aTe o a9 qEy fohd Yehr sl aret
TEd 87 |
refafEd fasedl § & Gaifere I9gw S I
(B) <IEfET

(D) ieareit

ATt
S 94

(C)
(E)

The amount of Award money for Paralympic
Games 2024 (Summer and Winter) Silver Medal
winner in India is:

Choose the most appropriate answer from the

Options given below:

(A) ¥ 30Lakh (B) 2 | Crore

(C) %75 Lakh (D) ¥ 50 Lakh

(E) " Question not attempted

SRR 3 iy et 2024 (oo A eapeli) &
A e, forsin  ferw, ek Tf _
et faare 1 & warffiras 394 I 31
A) T30emm (@) T1FS

©) R 753mm (D) T s50@™

E)  srmfe uy

AR
C ~Al3 | Eg

21

102 Who among the following h

\,(B)

103

as never been (upto

the Chief Minister of

September,  2024)

Rajasthan?

: ! ; he
Choose the maost ﬂpprﬂﬂﬂﬂﬁ.’ answer from

options given below:

(A) Bhairon Singh Shekhawat
(B)  Sachin Pilot
(C)  Ashok Gehlot
(D) Bhajan Lal Sharma
(E)  Question not attempted
frafafaa & 1 & = (Fadar, 2024 @96) TS0
o1 e e T
frefafiaa faeredt 8§ & gaffis 399w 390 37
(A) o fo IrEEd
qfe qrgee
(C) 9Tk Teelid
(D) S aTe I
(E) a9

The Amendment Act which ceased the reservation
of seats for Anglo-Indians in the Lok Sabha and
Legislative Assemblies:

Choose the most appropriate answer from the

options given below:
107" Amendment Act

(A)
(B) 104" Amendment Act
(C) 105" Amendment Act
(D) 106" Amendment Act
(E)  Question not attempted
e gog sifufn Ses qe@q e 3R
frrasTaT ¥ el $feae o fore wier s s
quTH o far mar:
frmfafaa fawedl 9 4 aaifie Iuges 3o =
(A) 107 af wemae sifafrm
(B) 104 af g srfafam
() 105 af wemae srfafm
(D) 106 af w@¥ma stfufrm
(E) ¥Taid 94
| Contd...
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. i G ing materials cannot be y
104 Recyeling can be done for: {06 Which of the following seqd
o : t/manure?

a. Metal cans for making compost/mi

b. Medical waste Choose the maost appropriate answer from the
Lo ‘ Ta W

C. Radioactive wisie options given hc‘ll_.ﬂ}‘r’-

d.  Plastic bottles (™ (A) Oil and paint

Choose the mosr ﬂﬂpﬁuprinm answer from the (B)  Fruit and Vepetables peels

: . (7] ‘ f

options given below :i_ l (C) I:Kcrcm-diuirl:g

(A)  (c)and (d) onlyy (D) Rotten foodymaterials

[1:” [ﬂ] and “'!') l."l]’ll‘\"“-I|| “-} IDHE‘;“U" not ﬂt{ﬂmfﬂLd

(C) (b)and (¢) u‘:ml%.*l”I e fefaa o e -,;ﬁh o7 g2 FEITZ/ET2 T 4

(D) (a)¢ 1nd{d}nan] mqﬁwmﬂgﬂp

(E)  Question not "IE‘_I‘_I‘.:I'I‘I]‘IIEd ﬁ[ﬂ'ﬁﬂf@a i:am.q-{_r Wﬂfﬁmmwm

g fom s geRat .

= B N\(A) derafdd’)

a. uﬁ%%ﬁ:ﬁ“

g 1 R “
el FHK EACRED
b. hﬁmm;f{.{ (B) g

c.  fearafsa smafgre o (C) T ST
: - e
o @re 9ard
d.  TeTTiEEE i aldel (D) WS Yo
= fou 7o faeredi # & @aiferes 3gg™ IO 1l (E) 3T HL"}
(A) aﬁﬂ(c}aﬂt{éf] - |
(B) Eh_clﬁfa} 37T (bT 107 Ifa:6=5:7=c¢:8, then what is the value of
2a+3b—c (Y
(C) A (b) 3R (o) . ?ﬁ; P
\'[D] Eﬁlﬁ{a}:ﬁﬂ?(d): A a:6=>b: Inc: 8, @l St e EARSIES
(E) SAaia 94 :_f T 27 -
. 11 -
(A) 15 | (B) 4
ES The microorganism ;Eﬁ:t causes Rabies i1s a- - B t_" 5 #
Choose the most up;;rpprfme answer from the ©) 3 ‘—i} ( 5
options given belnw':‘w (E)  Question not attempted / ﬂﬂ?ffiﬁ‘;rﬂ

-

. = .
(A) Fung ,‘:; 108 In cattle digesticjﬂ of cellulose occurs in-
e B N Choose the most 'Iuppmpr:are answer from the
(C) Virus (1) _ + (T)
(D) Pl gt =~ options given below:
asmodiu = | +
J ; (A) Large intesine (B) Oesophagus
(E) Question not ..ﬂ[meh:d » . LA £
3 . = D all intesti
TeTe & felu IaeEr g 38 (©) umﬂfl Yo (D)  Small intestine
frfafaa fasedi o Haﬂ“ﬂ?ﬁammaﬁ: (E)  Question pat attempted
(A) FdH ~;, - ) ‘mﬁﬁﬁﬁﬁ'ﬁrmﬁma’m%
(B) SfEm (") ﬁ':il%f@?f_ﬁﬁnﬁmaﬁhmmmai
~©) fam 0 ) whsE) @) wed
(D) EHIETH ey No©) *..:'.r (D) B yaH
(I2) H ﬂ Hfrd u4 (E) amﬂ s
ABC-A13] 3§ 22 [ Contd...
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109 Cud is-

N\ (B)

110

111

Choose the most appropriate answer from the

options given below:

(A) Fully digested food in carmvores
(B) Partially digested food in cattle
(C) Fully digested food in herbivores
(D) Partially digested food in carnivores
(E)  Question not attempted
ST (F) ©-
Frferfiaa faaredi & @ wraffires Sagw 30
(A) wraTerfEt 8§ qof aifad wisH

qersTT § STifere w9 @ wifed Wis
(C)  STeFTETiE § ot arfea sieE
(D) wETETEt § Hifyres w9 @ arfad wsE
(E) S0ia o4

The respiratory organs in fish are:

Choose the most appropriate answer from the

options given below:

(A) Fins (B) Spiracles
(C) Lungs (D) Gills

(E) Question not attempted

ogdl 0 999 H &

efafad faeeqt 4 9 gatffas UG 3?1'-[?__?[

(A) 9@ (fE) (B) Ay
(C) e D) = (fre)
(E) SaRa 9"

Which of the following states does NOT share its

border with Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Punjab (B) Gujarat
(C) Maharashtra (D) Madhya Pradesh
(E)  Question not attempted
fafafaa § 4 #19-91 79 TH9H & d91g 3791
Forfetfian farerdi @ wraifirs Fuge 390 G
(A) 99E (B) TSI
\U(C) wenr=z (D) HH F&T

(E) saRa 94

ABC - A13 | gg

23

112

113

114

Which of the following Reactor Type is currently
operating in Nuclear Power Plants of India
situated in Rajasthan?

T o GTHI] Ht ET 3 | e § frua g
q forer 5 & fopw wehm o v frosrer 22

Choose the most appropriate answer from the

options given below:

Freferfaa famedt § & watfers oz 00T
(A) VVER 1000 (B) CANDU

(C) BWR (D) IPHWR 590

(E)  Question not attempted / 3ﬂ?l'f{‘crﬁﬂ

‘Gram Swaraj Abhiyan® was undertaken under:
Choose the meost appropriate answer from the
options given below:

(A) Mera Gaon, Mera Desh

(B) Sabka Sath, Sabka Vikas

(C) Sabka Sath, Sabka Gaon, Sabka Vikas

(D) Sabka Sath, Sabka Vikas, Mera Gaon,
Mera Desh

(E)  Question not attempted

I TGS A fohges 3iaria S mam

frfafaa fawea 4 9 gaffae sugs ot

(A) WIS, OO e

(B)  HeIahT 9T, GIehT faehrd

(C) |l UTY, Gl T, Gl faanrd

(D)  HeehT 9T, GelehT e, B Tia, §37 297

(E) Faiayd

The lowest populated district of Rajasthan
according to the Census of 2011 is:
Choose the most appropriate answer from the

options given below:

(A) Bundi (B) Dholpur
(C) Sirohi (D) Jaisalmer
(E)  Question not attempted

2011 1 SHTUET % AR TSFAH FT G0 FH
STHEEAT 1eT fSrer &:

fr=fefiad faseat @ & waffire Iugw Iaa:
(A) o (B) HIET
(C) faue \ /D) AW
(E) aftd ws
| Contd...
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115 According to the 2011 Census the highest density
of population in Rajasthan was in which district?
Choose the most, appropriate answer from the
options given below:

(A) Dausa
¢

g
(C) Bharatpur ()

(D) I,

CH
(E)  Question not attempted

2011 I SEIUMT & SFER Terear & g et &
Frfirfian frsred] 8 @ wraffires S7gw SO0
(A) I (")
N@B) saw O

= A

=

(D) 3AdET
(E) mﬁrﬁw

Ul
L)
116 During the decadé of 2001-2011 in Rajasthan, in

(B)  Jaipur

Alwar

which district WEi_S?IhE highest growth rate of
C\

population? )
Choose the most-appropriate answer from the

options given below:
L)
1)
(B) Bikaner ¢

{A.} Barmer

(C) Ganganagar -
)
(D) Jaisalmer

|
(E) Question nmlﬁnemplud
2001-201 1 % 279 H TsTeaT o for frel o st
9fg 2 gaitae 41y
Frferaa faseat 5| aatfies sagw 3w T4:
No(A) arem -

(B) T

(E) sriEaas

ABC-A13] ¢ 25

117  Who among the following may be called the first
prose writer of Rajasthani literature?
(A) Shiv C_hla,n{lm Bhartiya
(B)  Vijiyadan Detha
(C)  Vijay Sirdgh Pathik
(D) Mcghrftj jMuku[
(E) Qumnpninm attempted

freafafaa o @ fra o qrfees &1 949 T

@ el AT T 22 _ |
(A) fmaezwdm (B) fasEEE
(C) faom fifgufuss (D) HOIS HEA

CRE S
£}

Poetry work') which

achievement$ of a dynasty or an individual is:
Y . '

Choose the Lugsr appropriate answer from the
D

describes the  great

118

options given'belnw:

(A) Rupaky ¢y (B)
(C) Vigat if) (D)
(E) Questiﬁn‘nnt attempted

Raso

Prakas

sqﬁf\‘ﬂ'ﬂ’rﬁr
ﬁmﬁﬁaﬂﬁﬁ%ﬂﬁnﬁwmmm

(A) ®FH (0 \(B) TEI |
(€) fama (D) W™ |

9
One stringed ml,lbu:'ll instrument that can produce

119
a wide variety+af tunes and melodies is called:-
Choose the Aidst appropriate answer from the
options gwcr: _[J’&IDW'. r

(A) Rawanhattha (B)

(C) Khartal () (D)

(E)  Questibhinot attempted

Ueh a1 AT wﬁawwa’rﬁﬁmmﬁaﬁﬂ

T I R W B, FEATdT &

ﬁmﬁr@awaaaﬁwmmaﬁ

(A) TavEeam, N\ (B) THAWl

(C) wedreT. (D) WM

(E) i 94

Ektara

Pungi

| Contd=
i'
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120 Match List-1 with List-11. 122 Which of the following is not the indigenous
List-1 List-11 milch breed of cattle?
L) "
(Shepherd (Belongs to) Choosc the most ﬂpﬂf‘hprinrf answer from the
community) : options given below: -
a. Raikas L &y ;.IIH*I'II'HU and Kashmir (A) Sahiwal (*F|
[ |
b. Dhangars 11! “Rajasthan W2l pmey o
(7] : : .
c. Gaddi Shepherds  11].-Maharashtra (€)  RedSindhi (7,
d. Gujjar Bakarwal 1V. Himachal Pradesh (D) Tharparkar
- l%wmﬁ 11 =7 e iy (E)  Question not *ftférnpted
-1 mhlu ﬁmﬁ%ﬁﬁ@raﬂwﬁw%ﬁaﬁwaﬁmm
3 27
(TEar a9eT) mﬁa%) qﬁ
o L0 ; ferccns Frafafaa ’Fﬂﬁ»ﬁiﬁﬁﬁ?ﬁ"ﬁmwm
‘ \, L=
A) ETErET
b U sﬂﬂ MELIE (A) e o |.".
" . 2. B H'
c. TEITEE 1= Ferrs NB) =%
d. gc?t qmmf;\w._%maam ©) 0
' \O (D) YRR Ry
Choose the most appropriate answer from the = M
: . 3 (E) 3wy O
options given below: | S C
= e L ; Ay
AT fau T fareredi & & waffyes suge at - ¢
‘ 123  Which of the fnllawmg 1S not a fresh water fish?
(A) a-ILb-ILc-Ividl] £
(7} Choose the most apf?rﬂprmre answer from the
(B) a-IV,b-IIl,c-Ildy1
options given below:
\(C) a-ILb-N,c-IV,d-I
; (A) Common Carp,¢
(D) a-Lb-Ilc- Ivd’n _ :
1) (B) Catla “..
(k) uestion not attempted / 3T T4 .
Q p; 9 (C) Rohu -
o -
() (D) Hilsa (!
121 In India the Wild Liﬁa-t..‘ S’rnlectiun Act was . , s
‘ r‘] (E)  Question not a};empted
implemented in- S ST
P i | =) F=feTiad 3 @ s -dt ool steavi s F1 goe
Y | g=siid @11 Atafaq @ny famar ma o - -
& q_E‘FT%]
" o— . » anewer ) c o~ o~ s me tr
Choose the most approprigte answer from the rferfad fracdt & %mmmm ?3
= N 5 -
options given below: o N(A)  FHT e
e -. {-r'
Frefafed fasea 4 @ waffys sagw 3w 94 (B)  wde -
(A) 1976 (B : 1968 © xw® &\
|"'"|.'
(C) 1970 \.{Dm 1972 (D) foemn e
(E)  Question not ﬂllEI’I‘lptEd / alflnﬂﬁ_d"ﬂﬂ (E) 34‘:!}?]‘&?[’51%1
ABC -A13 ] 3¢ 25 | Contd...
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124 The advantages of the cage system of rearing
poultry birds are-
a. Rearing of larger number of birds
b. Production of clean cggs
c. Control of parasitic discasc
d. Ensuring proper ventilation
Choose the most appropriate answer from the
options given below:
(A) (a).(c)and (d) only
(B) (a).(b)and (c) only
(C) (b)), (c) and (d) only
(D) (b)and (d) only
(E)  Question not attempted
e et ot foror (STeft) Rreew 3 arers o o 2-
a.  Tues 96T H iedl 1 9T &
b, TS ST H AR —
> P EICIRIUICIRCE E i
d 3G TAA ohl G2
3 few e faeedt § ¥ waifaes Iugw AT
(A) Fad (a), (c) 3R (d)
(B) ad (a), (b) 3 (c)
N(C) FA (b), (c) AR (d)
(D) & (b) 3R (d)
(E) AI0ia ¥4
125 Which of the following is designated as the Nodal
Agency in Rajasthan to implement the Prime
Minister Formalization of Micro Food Processing
Enterprises (PM-FME) over a period of 5 years
from 2020-21 to 2024-257
Choose the most appropriate answer from the
options given below:
(A) The Rajasthan State Food Marketing Board
(B) The Rajasthan  State  Agricultural
Marketing Board
(C) The Rajasthan State Administration
Marketing Board
(D) The Rajasthan State Applied Marketing
Board
(E)  Question not attempted
frfetfaa 4 @ fFl 2020-21 & 2024-25 @& 5 a4
1 37l 7 T G T TEERT 3e 3=
TS (i UF U U ) ) oA e 3 e T
4 HqTed UAd! & &9 J 1fad fopsart TrIT 29
frafafaa fawed 4 @ watffae sogw 30 4
(A) TISTEATH =22 B HIdHia a1
(B) TISTEYTH &2 §ﬁi faqur =
(C) TSTEYTH T U9ITEA HIh {1 a1
(D) TSTEYTH W2 UCATES HIh i ol
(E) 3afE a4
ABC - Al13 | 3‘{
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127

Which of the following schemes was launched to

integrate skill development in academic colleges?
Choose the most appropriate answer from the

options given below:

(A) Mukhya Mantri Kaushal Nirman Yojana
(MMKNY)

(B) Mukhya Mantri Kaushal Vikas Yojana
(MMKVY)

(C) Mukhya Mantri Yuva Kaushal Yojana
(MMYKY) |

(D) Mukhya Mantri Yuva Sambal Y”jﬂ}ifldl
(MMYSY) iy

(E) Question not attempted

Qrerforer Feisi o rarer fasmE 1 ThET FA 3

fora Prefafae § & SE-H1 Fr5m1 7= #1132

frefafag feredt § & Gafferes 399w 398 94

(A) TEEHHT e i AsET (MMKNY)

(B) g@nﬂﬁwﬁﬁmm (MMKVY)

(C) HEAHHt qaT FHere AT (MMYKY)

(D) HEIHAT JaT T ST (MMYSY)

(E) ATaia v

The “One District One Product Scheme™ falls
under which ministry in Rajasthan? |
Choose the most appropriate answer from the

options given below:

(A) Ministry of Commerce and Industry

(B) Ministry of Finance

(C) Ministry of Social  Justice and
Empowerment

(D) Minister of Textiles

(E)  Question not attempted

ek fSTelT UeR 3aTE AeET nmm#%&rr{mﬂ
& aTdTia 37Tt 82 |
ﬁn%ﬁﬁﬁmﬁﬁmﬁ&mmmai |

(A) afOST T 3AUNT HATA

(B) fa= ware

(C) umIfSe =T v tfirentiar dererd
(D) FISTHATSH '

(E) ATl 9
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128 Which of the following schemes provide health | 131 The average weight of a class of 33 students is
insurance coverage to the entire population of : ,
et i P - 35 kg. If the wmghiljnf the class teacher and the
Choose the most ﬂpp'ri;}irfmf answer from the Priiclpe e in{:ludqd THEHEHe. 9veripy: weipht
options given below: t:] Increases by | kEﬁVhﬂl Is the average weight
-
(A) Mukhyamantri ryChiranjeevi  Swasthya (inkg) of the c]asql tgacher and the principal?
Bima Yojana (] U hedl o 33 foraiffa =1 st asm 35 feor 2)
(B) Mu-kh}*amantri ?ﬁishu]k Nirogi Rajasthan IS Fefmegs aﬁt%ﬁnﬁ%m =1 ft it o
- ;DJ:EH P; | ST Tt 376a I | ot =1 ST 21 shemons it
ukhyamantri Nishulk Dava Yojana
ST 7 STreags (R i) frr
(D) Mukhyamantri Nishulk Janch Yojana 10) " ¥
(E)  Question not atl&%ptcd 8)* 207 O
ﬁﬁ%ﬁaﬁﬂrﬁaﬁqvﬁ-ﬁwwﬁm (B) 52 O
ST il T S st Wa et 27 © 5025 ()
ﬁnﬁﬁmﬁmﬁﬁ‘ﬁmﬁ%aqmwaﬁ (D) 525 ?ﬁg
A ;
EB; Wﬁﬁﬁﬁ%ﬁwaﬁmm (E) Question ndﬁhttemptedﬁﬂﬁfﬁrﬂﬁ
q&gwHt Hye® ort arsreerr e
(C) geawHt (A3 gar Fismr
\,(D} q@ﬁﬁw%ﬁqﬁw 132 1In a class of 40 ﬁdents 45% are girls. The
(E) Wﬁﬁgﬂ tg average weight n{_l}e boys is 48 kg and that of
O the girls is 43 kgi-What is the average weight
129  What is the HCF of twio humbers if their LCM is (in kg) of the whnmlassr?
36 i ' Caf
;mes- lil;;f}HCF r??’]d the product of the U FaT F 401%31-[@?},}[% 45% TefEat 3 aet
numbers is 23041
& abrsl s O o 40 maﬂmm@ﬁi‘naﬂta@%ﬁrwaﬂmm
g dH quqqﬂﬁa?{:{%qﬁﬁﬁm?ﬂ%w% 9 %Itﬁr E‘?; T 3 ”fmﬁ}w;g?
WWWZBM% () 838 L)
i
(A) 10 B) 6 (B) 45.25 )
<) 8 @ 9 © 405 9
(E)  Question not attempted / 37TAHT 94 ™)
| 3 (D) 45.75 0N
130 Ankit bought 4 shirts at 2 550 each and 2 trousers E)  OusstivaadN
u i
at < 820 each, what g:lhe average cost of the SRt thempled;’ = e
items? ¥
Siferd T 4 FrSt T 550 WAk ol G H @ 2 ey | 199 What s the sipgle  discount  equivalent  to
(92) T 820 eI i Et:étﬁﬂél = qmaﬁ F aﬂ'ﬂﬂ' successive discounfsyof 25%, 20% and 15%?
T T 22 - I T 25%, 209 3 15% % T Tohet w2
(A) %620 O 27 =
B (")
(B) <690 ol (A)  42% (N (B) 60%
(C) 665 ik (v)
D) %640 (V) (C) 51% O (D) 49%
g ;
(E)  Question not attempted fﬂﬂﬁﬁﬁﬂﬂ (&) HJestionot aitsprey Gﬂ_ﬁf{a 2
ABC -A13 | gg 27 | Contd...
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134 On selling an article at a discount of 28% on its | 137 Mareks disease is a COMMON disease of-

marked price, the shopkeeper still earns a profit

of 20%. Had he sold the article at the marked

Choose the most appropriate answer from the

: : v : siven below!:
price, his profit percentage would have been: options g

fordlt &g =t siferd go 9T 28% o2 & T = T (A) Honey bee
ot gFMIR 20% & Affa e 21 af a7 awq =l (B) Cattle

3fehd qod G AT AF Ik AT 1 Ifqwra fera

RGN (C) = Poultry

(A 333% B) 662% (D) Fish

(C) 40% (D) 58% (E)  Question not attempted
(E)  Question not attempted / AR T4 o T T e

135 If the price of petrol increases by 20%, by what

percentage should the consumption of petrol be (A) OUFRET T
reduced so that there is no change in the expenses i S
on petrol? G [ rRE s
UZIST T qeF 20% 5 ST 8] 36 Wﬁﬂﬁmﬁ (C) FFHE HI
sri%ﬁma%?ﬁq"rﬁ

ST, a9 Ugier 9T 814 aTeT 99 \{D) sl anr
3T & @2

E) qaiayyg

(A) 13%% (B) 25% .
(C)  20% D) 165%

(E)  Question not attempted / IART T 138 Bugyals are-

Choose the most appropriate answer from the

136 Milk fever is usually observed in cows and
buffaloes around calving time and is characterized
by-

Ephtti}::z ;:nm;:; :;:-pmprmre answer from the (B) Dry forested areas in Kumaun
(A)  Reduced blood calcium level
(B)  Reduced blood potassium level (D)  Vast meadows in high mountains

options given below:

(A)  Snow covered mountain peaks

(C)  Dry forested areas in Kashmir

(C)  Increased blood calcium level
(D) Increased blood potassium level i
(E)  Question not attempted U E-

el %W@—@?‘q}ﬁ F=fafaa et i & waifies sgaw sw

Question not attempted

Erlﬁﬁ“m"tﬁat‘qmw%

Fefetad faered § & aatfire sugw a0 (A) =% srreeify vdq firaw
N (A) T e ww e \.(B) TS & a7

(B) T & W2fyrm o @ v el ,

(C) Eﬁﬁ%ﬁ:ﬂﬂﬁwwm () Wﬁ?ﬁmaﬂ

(D) T 9 Uil w5 aeqr (D) mﬁﬁ%ﬁmmm

(E) Saf@wy (E) : :
ABC-A13] ¢ . Sl d
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139 Which is the biggest saline water lake of | 141 Khejarli Andolan for environment conservation

Rajasthan? 1s associated with which state of India?

Choose the most appropriate answer from the Choose the most appropriate answer from the

options given below: options given below:

(A) Lunkaransar (A) Karnataka
(B) Didwana (B) Gujarat
(C)  Pachpadra (C) Madhya Pradesh
(D) Sambhar - (D) Rajasthan
(E)  Question not attempted (E) Question not attempted
TSR il gl 91 @R Ut Y 3t -t &2 AT W % I srem T deeel st
Frfefa fosedi 3§ & waffae soges sac: I < foher o & waifem 29
(A)  TIOTHRIURR | Fetetad fasedt § & watfrs sogw o
(B) Ereamn (A) AlCH
(C) 9=9sT (B) TSAIT
\~ (D) W™K (C) weHWRW
(E) iufa v Nu(D) TEIH
(E) A7aia u

140 Which river of Rajasthan is connected to the

Vedic and Puranic period? 142 The highest amount of rainfall is received by

Choose the most appropriate answer from the which of the following parts of Rajasthan?

options given below: i Choose the most appropriate answer from the

(A) Luni options given below:
(B) Saraswati (A) Northern Rajasthan
(C) Mahi (B) Eastern Rajasthan
(D) Banganga (C)  Western Rajasthan
(E)  Question not attempted (D) Southern Rajasthan
TSI Fil F19-d1 731 Afew vd QYT Tl § et (E)  Question not attempted
27 TSTEAT o -/ 91T 3 S7rehaw aut s 2t 2
Frefafes fased & @ aatfies sugw 3o ﬁﬁ%ﬁﬂﬁﬁﬁﬁﬁﬂﬁf@ﬁﬂﬂﬁﬁ?ﬁ:
(A) (A) 3T TSrEYTH <
B)  wEEd (B) eff o o

(C) = (C) et Tomem
(D)  =Top ) e e @
(E)  ¥efa v (E) et s

ABC - A13 | 3g 29 [ Contd...
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143 Which is the only river in Rajasthan which flows 145 The simple interest on a sum of money is g of

for all twelve months of the year? the sum and the rdmber of years is equal to the
Iy

W
Choos st ap riate answer {rom the ]
adlodl ﬂp lrnp rate percent per anfium. The rate per annum Is:

options given belowt.) O I
i - %ﬁmﬁrmwmwﬁnﬁuﬁmg%
(A) Banganga 2 &y L _ .
: (f aﬁmﬁmﬁ#ﬁ,ﬂﬁm%m%lm
(B) Sabarmati %™ )
v} |
(C) Chambal fafimae: -
(D) Mahi ) 2% || e
" (9
(E)  Question not Ei$n1ptcd (B) 2-}1—% i)
. A il o
TS § -6 URET e S 9 SEl HeH aeh I e |
iy ) 3™ /
et &7 i el il \
LY} -~ ¢
i - 1 O
o fow e feredt AR HEH ITGH I D) 33% m
(A) SRR f',..f: (E) Question ndt-attempted / aﬂﬁfﬁf e
(B) HI=Hdl
: L0
() L 146 In what time, ¥ 8090 will amount to ¥ 9261 at
L{)
(D) =l o 20% per annumg{gﬁlpnund interest when the
(E) & SECE ;;'; interest 18 cﬁmpnu‘ﬁaed quarterly?
Oy
C (A) 9 Months (T}

144 “X’ lent T 8000 to ‘Y for 2 years and T 6000 to
C.A (B) 3 Years

*Z’ for 4 years on simple interest at the same rate l
(C) 15 Years{(

g
(D) 1 Year -,

of interest. ‘X received < 2400 in all from both

; {} ;
of them as interest. "]E—he rate of interest per annum
:

2o - (E) Question n?;:futempted
(7] - - ~
Wmaﬁm@#m*x* 2 ut & fag Y’ & fora wm § ¥ 8000ihT T wrshafe =4t W 20%
T 8000 VT 24T & T4T 12" 1 4 741 o feaq T 6000 gffes awa T 9£€rmmﬁ,uﬁarm%mﬁﬁ
SV 2T 21 X" ZH1 A %A T 2400 ST &9 F T A BT a
AT 2l AT &l dftigh 2T 8- O
'th (A} O dre lﬁ
(A) 8% lf_} o
CJ (B) 399 e
(B) 5% ) 1 (-
Al ")
(C) 6% H © 1y 4
(D) 7% ) (D) 134 2}
Cz) 4
(E)  Question not attempted / 3T ot (E) 377afta wa
ABC - A13 | 3€ 30 [ Contd...
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147

148

Which of the following Songs is sung by men

during Holi?

Choose the mogy appropriate answer from the
options given below:

(A) Toran
(B) Rasia
() | Mayara
(D) Badhava
(E)  Question not attempted
ﬁ?ﬁwgﬁﬁmﬁ?-ﬁrﬁammﬁ?
P fasredt 4 & wratfire saaw so0 =
(A) ROy \ |
e
(€) A=[U
(D) =YrEr
(E) SAT9ia wgr

Which dance is performed in the temple of Kaila

Devi?

Choose the most appropriate answer from the

options given below:

(A) Dandiya Dance

(B) Languriya Dance

(C) Dhol Dance

(D) Fire Dance

(E)  Question not attempted

St el iy -7 e T ST 27
Fefefad faeredl § & gaffies Iugw 3w T:
(A)  zifear g

€) T3

D) g

(E)  S1qvfea w1

31

149

150

What dance is performed in the sitting posture?

Choose the most appropriate answer from the

options given below:

(A)  Gavri Dance

(B) .~ Bhawai Dance

(C)  Terahtali Dance

(D) Bamrasia Dance

(E)  Question not attempted
R8T e 331 78 w37 3 Foa ey 20
Frerferfa foevedt & warfaras swges 3w
(A) T T

(B) w&T T

(C) dtEdTet I

(D) =wrfeaT 3o

(E) orafa uH

‘Chaar Baint’ is the famous folk drama/

presentation of which region of Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Jaisalmer

(B) Kota

(C) Dausa

(D) Tonk

(E)  Question not attempted

BRLLE LR S 120 C i e e I e o
e
ﬁw%lﬁaﬁﬁw?q‘ﬁwaf@aﬁauﬁmgﬁ:
(A) S

(B) @l

(C) <

(D) <

(E) Igafita g
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